3. Bogenligawettkampf / Verbandsliga NDSB

am 01.02.2020

-

in USG / Grundschule Birkenallee
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SchK Schmalfeld 50 4949520 SV Jerrishoe
Bad Oldesloer BS 514853510 SchV Klein Wesenberg
Itzehoer HC 5549540 0 TSV Schwarzenbek
TSV Holm 54 5752540 Uetersener SG
TSV Holm 54 554942 54  SchK Schmalfeld
TSV Schwarzenbek 5231415041 SV Jerrishoe
SchV Klein Wesenberg 5146 54 5153  Itzehoer HC
Uetersener SG 525541520 Bad Oldesloer BS
SV Jerrishoe 514255510 SchV Klein Wesenberg
Itzehoer HC 5150520 0 Uetersener SG
Bad Oldesloer BS 5747560 0 SchK Schmalfeld
TSV Schwarzenbek 4242460 0 TSV Holm
TSV Schwarzenbek 3942400 0 Bad Oldesloer BS
SchV Klein Wesenberg 515046 48 0 TSV Holm
Uetersener SG 5156 47 5154 SV Jerrishoe
Itzehoer HC 3451550 0 SchK Schmalfeld
SchV Klein Wesenberg 4250460 0 Uetersener SG
SchK Schmalfeld 5054530 0 TSV Schwarzenbek
TSV Holm 47 54 55 47 45  Bad Oldesloer BS
SV Jernshoe 4254510 0 Itzehoer HC
Itzehoer HC 5155545254 TSV Holm
SV Jernishoe 5354500 0 Bad Oldesloer BS
TSV Schwarzenbek 524940490 Uetersener SG
SchK Schmalfeld 525051510 SchV Klein Wesenberg
Bad Oldesloer BS 53 56 51 54 0 Itzehoer HC
Uetersener SG 5553550 0 SchK Schmalfeld
SV Jerrishoe 5449505155 TSV Holm
SchV Klein Wesenberg 403646410 TSV Schwarzenbek

Tabelle

Satze Differenz

1 Itzehoer HC 27 . 25 2

2 Bad Oldesloer BS o2 10

3 SV Jernshoe 32 .26 6

4 TSV Holm 32 .30 2

5 SchK Schmalfeld 28 : 22 6

6 Uetersener SG % : 16 20

7 SchV Kiein Wesenberg 18 : 38 -20

8 TSV Schwarzenbek 12 - 38 -26
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